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=LZ\CA 19.1 JtiEE 19.1 1,404 — 1,080 15
ZLZ\CA BRE 972 — 864 1 A M
IZALA 37.0 JtiEE 36.6 1,080 324 216 0] A S
IZALA f = 0.4 — 1,296 — 10 L
ZIES5 11.1 BRE 10.7 — 1,188 — 2 LL
[E<ELY 10.6 £ % 9.8 2,160 2,052 1,836 15 A L
HTE 1.4 il 0.8 2,592 — 2,160 4l A L
ZEDOH 5.5 BERE 3.9 2,376 2,052 1,728 4f A M
Fry 62.0 B E 59.2 1,415 1,080 972 10 vay 8
Fry £ % 2.8 - 1,080 — 0] A L
IE5NAZES 0.8 = I 0.1 - 194 — 015 A L
= 5.7 JtiEE 40 3,564 2,268 2,106 5
Ch¥E 1.2 i B 0.6 3,240 2,268 2,268 3 L
125 1.8 = I 0.7 5,400 4,590 4,320 5/ A M
L) — 2.7 E % 2.7 3,240 1,696 810 10 A LL
FRINGHR 1.3 = B 0.1 — 108 — 0.1 L
LAX 25.4 E % 24.8 2,160 1,728 1,620 10 A 16
LA 12 [ 0.5 1,080 648 648 4 A L
ForHYA 1.2 BRE 0.6 2,808 — 2592 4f A L
=5l 16.1 BRE 0.9 1,944 — 1,620 5/ A L
=p5Y ElG 5.1 3,240 2,376 2,160 5] A M
NESSED) 43 BRE - - - PR
ANESSED) JtiEE 43 2,700 1,728 1,728 10 vay 5
7y 6.4 BRE 0.2 — 2376 — 4f A LL
%R S 5.2 1458 - 1404 5 B 32
d 20.3 EES 13.5 - 2916 — 4 S
el X & 46 3,456 3,240 3,024 4 B 20
=k 3.2 EES 2.3 270 248 216 02| vay S
Rl 4 X & 0.7 — 3,240 - 3 A L
E—<> 4.6 X & 25 109 109 81 0.15 A M
F—<> EES 1.3 2,592 — 2,268 5 L
T35 1.0 BRE 1.0 76 76 32 0.3
[ZA5Y 1.3 BRE 0.8 1,210 648 648 3l A M
SPVAITFA 0.2 BRE 0.2 — 2,700 — 2l A
MrAL& 34.2 BRE 33.1 — 1,296 - 5/ A L
MALE BRE 1,620 1,188 1,188 5/ A M
[EhiLs 28.4 JtiEE 284 — 3,186 — 10 A L
[ECTRYNS JtiEE 3,564 3,186 3,186 0] A LL
=L 0.5 BRE 0.5 3,240 2,700 2,160 5/ A
hLE 0.8 = 0.8 — 4536 — 10 C LL
f=Fh&E 59.2 JtiEE 58.6 3,564 - 3,456 20 A L4 (
f=FhE JtiEE 1,188 — 702 10
A1z 0.4 th E 0.3 - 378 — 1 4L
ELLVE=T 1.1 BERE 0.1 — 119 — 01 M L
ELLV=IT E 15 0.4 - 173 - 0.25| M M
ZDEET 5.3 E I 3.7 36 30 30 0.1 A
LHL 2.0 2 [ 2.0 97 70 65 0.2
ESES T 384.6
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BMAHMAEE 6.2
INGRH DA 1.3 BRE 1.3 2,700 — 2,376 5| 7hva L
ING RHAPNA BERE 3,240 — 2,700 5| 7hva M
ING RHEPNA BERE - 3,240 - 5| 7hv1 S
LEY 1.2 F Y 0.7 7,344 4,320 3,996 17 115
INLULT 3.6 = I 3.6 7,344 3,564 3,240 17
L7 2)1LY 0.2 mr2Y 0.2 — 4320 — 15 50
YATE 10.6
M3 8.3 E % 1.4 6,048 — 5,184 10| V2 40
HA%ZLE 10.0
2K 2.2
ZTDHMEL 7.7 X & 42 6,264 5,940 4,860 10{ 7hv2 24
3HET 0.2
% 0.2 & % 0.2 4,860 — 4536 5 vay 15
SESE 6.3
Big 1.8 £ B 0.9 605 605 518 0.35] vay LL
EA—* 15 = I 0.7 1,620 — 1512 2| 7hva 4
~NIJ—A E X - 324 — 03[ 7hv2 LL
AOVEF 0.7
7—IJLR 0.2 EES 0.1 6,750 5,940 4,860 8 3L
ZRhAOY 0.4 Jtim5E 0.4 6,480 4,752 4,320 gl 1%
ERRYOY1s 0.6
CEETLVH 0.6
INFF 10.0 EYEY 9.3 5,584 3,348 3,285 15
NAFyFTIL 1.9 EYEY 1.9 3,456 2376 2,376 10 8
FoA4T)LY 3.3 —oT 3.3 6,156 — 4,050 75 4
RERET 58.6




